	upplier: RAMIESHA CATERING SERVICES			P.O. No.: 5-1-20			
Address:	Iba, Zamb	pales	Date: 30-101-1058-1011-105				
=			Mode of				
Telephon TIN :	e No. :	No de hardres harmon and a 1866 and in 1860 and the 1860 for the short head of the base has been been been been been been been bee	Procurement :				
TIN :	IN : Gentlemen:						
	Gement						
	Please furn	nish this office the following articles subject to t	erms and condi	tions contained herein	.		
		GU - Iba, Zambales Delivery Term:	Free Delive	ery			
Date of D	e unit	Payment Term:					
NO.	UNIT ;	DESCRIPTION	OTY.	UNIT COST	AMOUNT		
		MAY 1, 2020					
1	pax	BREAKFAST	75	60.00	4,500.00		
	l	Rice, hotdog, boiled egg, bottled water	1 1				
2	pax	LUNCH	75	80.00	6,000.00		
		Rice, pork kaldereta, bottled water			-		
3	pax DINNER		75	80.00	6,000.00		
		Rice, fried chicken, bottled water			-		
		MAY 2, 2020					
4	pax			60.00	4,500.00		
		Rice, longganisa, boiled egg, bottled water			:		
5			75	80.00	6,000.00		
	İ	Rice, chicken adobo, bottled water	1 1		:		
6	pax DINNER		75	80.00	6,000.00		
		Rice, chopsuey , bottled water	1 1		:		
7	MAY 3, 2020 PREAKFAST		1 _ 1				
,	pax	Rice, tinapa, boiled egg, bottled water	75	60.00	4,500.00		
8	pax	LUNCH	75	80.00	6,000.00		
Ü	Pax	Rice, fried fish, sayote w/giniling, bottled water	1 "	80.00	6,000.00		
9	pax	DINNER	75	80.00	6,000.00		
3	Pax	Rice, Pork menudo , bottled water	1 "	80.00	6,000,00		
		MAY 4, 2020		1	-		
10	pax BREAKFAST		75	60.00	4,500.00		
		Rice, Tocino, boiled egg, bottled water			- 1		
11	pax	LUNCH	75	80.00	6,000.00		
		Rice, Pakbet, fried fish, bottled water			-		
12	pax	DINNER	75	80.00	6,000.00		
		Rice, fried chicken, bottled water	1				
<u> </u>	. 42 1 1	Sub-TOTAL -	1. 19	- 174			
of one /1		ailure to make the full delivery within the time s every day of delay shall be imposed	pecified above,	a penalty of one-tenth	(1/10) of		
of one (1)	percent of t	every day of delay shall be imposed			_		
		The state of	S SE WEST	YOURS			
		The Parison	HON	UN RUNDSTEDT	C, EBDANE		
			THE PARTY OF THE P	Authorized Offici			
		The state of the s	DANIEL KENTER		-		
~ .			ALC: HETTE				

MICHELLE M. YAP
Signature over printed name of Supplier

2 (-4) 11-
8-1011 -115

THE PROPERTY

Place of Delivery: LGU - Iba, Zambales Delivery Term:  Date of De unit Payment Term:			Free Delivery		
STOCK NO.	CK UNIT DESCRIPTION		QTY. UNIT COST AMOU		
13	pax	MAY 5, 2020 BREAKFAST Rice, hotdog, boiled egg, bottled water	75	60.00	4,500.0
14	pax	LUNCH Rice, chicken curry, bottled water	75	80.00	6,000.0
15	pax	DINNER Rice, fried porkchop, bottled water	75	80.00	6,000.0
16	pax	MAY 6, 2020 BREAKFAST Rice, ham, boiled egg, bottled water	75	60.00	4,500.0
17	pax	LUNCH Rice, pork steak, bottled water	75	80.00	6,000.0
18	pax	DINNER Rice, pinakbet fried, bottled water	75	80.00	6,000.0
19	pax	MAY 7, 2020 BREAKFAST Rice, hotdog, boiled egg, bottled water	75	60.00	4,500.0
20	pax	LUNCH Rice, fried fish, pechay w/giniling, bottled water	75	80,00	6,000.0
21	pax	DINNER Rice, Pork menudo , bottled water	75	. 80,08	6,000.0
22	pax	MAY 8, 2020 BREAKFAST Rice, longganisa, boiled egg, bottled water	75	60.00	4,500.0
23	pax	LUNCH Rice, ampalaya w/egg, fried fish, bottled water	75	80.00	6,000.0
24	pax	DINNER Rice, pork binagoongan, bottled water	75	80.00	6.000.0

Sub-TOTAL
In case of failure to make the full delivery within the time specified above, a penalty of one-tenth (1/10) of of one (1) percent of every day of delay shall be imposed

Very truly yours

Authorized Official

Conforme:

MICHELLE M. YAP

Signature over printed name of Supplier

## **PURCHASE ORDER**

Supplier: RAMIESHA CATERING SERVICES	P.O. No.: 51-20
Address: Iba, Zambales	Date: 20:101-858-1011-115
	Mode of
Telephone No. :	Procurement :
TIN :  Gentlemen:	

Please furnish this office the following articles subject to terms and conditions contained herein:

ace of De		GU - Iba, Zambales Delivery Term : Payment Term:	Free Deliv	ery	
STOCK UNIT		DESCRIPTION	QTY.	UNIT COST	AMOUNT
13	MAY 5, 2020 BREAKFAST Rice, hotdog, boiled egg, bottled water			60.00	4,500.0
14	pax	LUNCH Rice, chicken curry, bottled water	75	80.00	6,000.0
15	pax	DINNER Rice, fried porkchop, bottled water	75	80.00	6,000.0
16	pax	MAY 6, 2020 BREAKFAST Rice, ham, boiled egg, bottled water	75	60.00	4,500.0
17	pax	LUNCH Rice, pork steak, bottled water	75	80.00	6,000.0
18	pax	DINNER Rice, pinakbet fried, bottled water	75	80.00	6,000.c
19	pax	MAY 7, 2020 BREAKFAST Rice, hotdog, boiled egg, bottled water	75	60.00	4,500.0
20	pax	LUNCH Rice, fried fish, pechay w/giniling, bottled water	75	80,00	6,000.0
21	pax	DINNER Rice, Pork menudo , bottled water	75	. 80.00	6,000.0
22	pax	MAY 8, 2020 BREAKFAST Rice, longganisa, boiled egg, bottled water	75	60.00	4,500.0
23	pax	LUNCH Rice, ampalaya w/egg, fried fish, bottled water	75	80.00	6,000.0
24	24 pax DINNER Rice, pork binagoongan, bottled water		75	80.00	6,000.0

Sub-TOTAL
In case of failure to make the full delivery within the time specified above, a penalty of one-tenth (1/10) of

of one (1) percent of every day of delay shall be imposed

**Authorized Official** 

Conforme:

MICHELLE M. YAP

Signature over printed name of Supplier

## **PURCHASE ORDER**

THE NO.

Supplier : RAMIESHA CATERING SERVICES Address : Iba, Zambales	P.O. No.: 5/-15 Date: <u>如师·</u> 姆·谢·谢
Telephone No. :	Mode of Procurement :
Gentlemen:	

Please furnish this office the following articles subject to terms and conditions contained herein:

ate of De		GU - Iba, Zambales Delivery Term : Payment Term:	Free Delive	ery	
STOCK NO.	UNIT		QTY.	UNIT COST	ÁMOUNT
25	pax	MAY 9, 2020 BREAKFAST Rice, hotdog, boiled egg, bottled water	75	60,00	4,500.
26	pax	LUNCH Rice, chicken curry, bottled water	75	80.00	6,000.
27	pax	DINNER Rice, pork kaldereta, bottled water	75	80.00	6,000.0
28	pax	MAY 10, 2020 BREAKFAST Rice, tinapa, boiled egg, bottled water	75	60.00	4,500.0
29	pax	LUNCH Rice, chicken adobo, bottled water	75	80.00	6,000.0
30	pax	DINNER Rice, fried fish, mixed vegetable , bottled water	75	80.00	6,000.0
31	pax	MAY 11, 2020 BREAKFAST Rice, tinapa, salted egg, bottled water	75	60.00	4,500.0
32	pax	LUNCH Rice, fried fish, sayote w/giniling, bottled water	75	80.00	6,000.0
33	pax	DINNER Rice, Pork menudo , bottled water	75	80.00	6,000.0
34	pax	MAY 12, 2020 BREAKFAST Rice, corned beef, boiled egg, bottled water	75	60.00	4,500.0
35	pax	LUNCH Rice, Fish sarsiado, bottled water	75	80.00	6,000.0
36	pax DINNCR Rice, pork binagoongan, bottled water		75	80.00	6,000.0

In case of failure to make the full delivery within the time specified above, a penalty of one-tenth (1/10) of of one (1) percent of every day of delay shall be imposed

HON JUN RUNDSTEDT C. EBDANE
Authorized Official

Conforme:

MICHELLE M. YAP

Signature over printed name of Supplier

0			PURCHASE O	RDER			
Supplier:	er: RAMIESHA CATERING SERVICES s: Iba, Zambales			P.O. No. : 5-1-15			
Address :	Ioa, Zambales			Date: 10-10-057-101-115			
Telephone	e No ·			Mode of			
TIN:	S 140			Procurement :			
	Gentleme	n:					
	Please fur	nish this office the foi	lowing articles subject to t	erms and cond	itions contained here	in:	
Place of D	elivery : L	GU - Iba, Zambales	Delivery Term	F D II			
Date of De	unit	, ==	Payment Term:	Free Deliv	ery		
STOCK	100-	1	***************************************	1			
NO.	UNIT	DE	SCRIPTION	QTY.	UNIT COST	AMOUNT	
37	pax	MAY 13, 2020 BREAKFAST Rice, hotdog, boiled e	gg, bottled water	75	60.00	4,500.00	
38	pax	LUNCH Rice, chicken curry, bo	ttled water	75	80.00	6,000.00	
39	pax	DINNER Rice, pinakbet, fish fille	et, bottled water	75	80.08	6,000.00	
40(	pax	MAY 14, 2020 BREAKFAST Rice, tinapa, boiled eg		75	60.00	4,500.00	
41	pax	LUNCH Rice, chicken adobo, b		75	80.00	- 6,000.00	
42	pax	DINNER Rice, fried fish, chopsu		75	80.00	6,000.00	
43	pax	MAY 15, 2020 BREAKFAST Rice, ham, boiled egg, l	pottled water	75	60.00	- - 4,500.00	
44	pax	LUNCH Rice, fried fish, repolyo	w/giniling, bottled water	75	80.00	6,000.00	
45	pax	DINNER Rice, Pork kaldereta , b	ottled water	75	80.00	6,000.00	
ĺ		ĺ			1		
		1			1		
					1	:	
				1	1		
				1 1	1	-	
1				l i	ĺ	- 1	
		<u> </u>	Sub-TOTAL .	<u> </u>			
	· · · · · · · · · · · · · · · · · · ·		RAND TOTAL	<del></del>		49,500,00 247,500,00	
In	case of fa		delivery within the time spe	cified above, a	penalty of one-tenth	(1/10) of	
of one (1) p	ercent of e	very day of delay shal	l be imposed			c	
					IN RUNDSTEDT	C. EBDANE	
Conforme:	Ay	w/	Sel Maria and the second				

The state of the s

Conforme:

MICHELLE M. YAP

Signature over printed name of Supplier